Week 13 Notes (Apr 18-22)

Wednesday, January 27, 2016 4:48 PM

Quiz 24 B
PHYSICS 102- Instructor: M. Ozglr OKTEL- Spring 2016

A rod of length L can slide without friction on rails as shown in the figure. The rod and rails have

negligible resistance but are connected to a resistor with resistance R. If the rod is moving with
velocity v as shown in the figure.

a) Find the direction and magnitude of the current on the resistor.
b) To keep the rod moving with velocity v what is the force that must be applied to it? Find F. & i
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